L

PV IPTIYO 6 TSy IPTE Y (RSP (1S IR i [Ty (R e "o Fle e I T (ST 6 1T T oy
€ = (s e s
T OK? ([0 3 287] I S0 3 GZ'L € 0 0 0 0 0 SZ°L 00°L | os‘o 0S0 050 | ST0L | n¥2¢
l = F5 s STy I L L 0 Sl I 0 1 0 0 0 00°k | 00°L | 00V | SZ0 |SCOL| ne=t
e | o |shomy|
(szo-2) (s0-1) (0-z) |(0-5) S-moZo-m:%iq qamaﬂﬁ Pt [@Peirgy | TS ((0-1)](0 -1 (0-1) | (0-1)
[2u)] i i } A .
Y A ) Ty D | oy vy vSrTy
_.o 10 ==y P e s (P Ty ¥ | mry v vhy
(s0) |(sz-0l0 (sz'0l2| (5°0) =y | (S2°0) ey s
s.vnﬂ?vw (2 (natas's
e | e ey, | o0
. irrhre o B =S uﬂa SIE o | 6is” | s | iefer | reey
Ty | e e e o | T L T e o s e | Sk ey e (e | o0 | ey
rd i 5 | e |7 RY ey PPER IeERS i s 57 | fef2 | e e |
e | 6 s e ey F B - s hass=l il s
TV o mad
T | stptes
iprhre
Ty R )
AL . ireep o
P Aty g rE ef6e e
fryoro0 g IMFe Ity (ST v0 g0 (Pt A
YTy _E&m‘_}..,
6202501 Ly [0 0177 2) (0 8mg) (00 eme) (=20 ¥0 =)
fresom jprid irrhre | fe b 7 (b (peTey
%335 T rhre  |ireed D o7 | pr e ¢ ey frvovomy 50 |6 e ¥y sty v g0 (e IR Y Ty RS
R 0 (&5 Py PTCe v g0
L z € 2 ) 9
o PTeT (PR ¢ 20
60 1 202

ITsere livile (Rom € Cory

O RS 87 PR O/E sy o7 O (e [y g v g - e -
ey (& €

O it iy Fipt fppe”

IR0y Py (i ey

oo a0 = L0
o e (0 =
o prmis—0 = €0

co0




